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1. What is the verb form of ‘Power’?

Ans: Empower

2. Find out the correct sentence-

Ans: He insisted on my going to cinema

3. Which one is the correct passive form of the sentence _’ He satisfied everybody.’?
Ans: Everybody was satisfied with him

4. What is the synonym of the word “Repress”?
Ans: Control

5. He talks as though-

Ans: he were a child.

6. What is the antonym of the word ‘Compulsory’?
Ans: Obligatory

7. What is the noun of the word ‘Confess’?

Ans: Confession

8. APBIA (YTH @v% @%ﬁﬂﬁi’ —the correct translation of this sentence is—
Ans: It has been raining since morning (appropriate is: drizzling)

9. ‘Black and blue’ means-

Ans: mercilessly

10. ‘He acted on my advice’ — complex form of this sentenceis __
Ans: He acted as | advised him .

11. The word ‘Lunar’ is related to ----

Ans: Moon

12. ‘Maiden speech’ means-

Ans: The first speech

13. The girl was reclining _ the couch.

Ans: on

14. Choose the correct sentence:

Ans: If he works hard, he will succeed.



15. He went to bed after _
Ans: he had learnt his lessons.
16. ‘A bolt from the blue’ means-
Ans: An unexpected calamity
17. The antonym of the word “Benign” is-
Ans: Malignant
18. SN FOAFA FAIICARA’ 7 &7 23AG [?
Ans: He was dishonored
19. We helped him _ the work.
Ans: finish
20. He fought __ to defeat the enemy.
Ans: Tooth and nail
21. Had I been a king, | __
Ans: would have helped the poor.
22. Choose the correct synonym for ‘Extempore’
Ans: Impromptu
23. When you make a promise, you must not go _ on it.
Ans: back
24. What type of man is quite the opposite type of ‘Supercilious’?
Ans: Affable
25. What is the phural of ‘Magus’?
Ans: Magi
afrs:
1.1+5+9 +...uuueueee +81=?
Ans: 861
2. JCa 4 AR (T 377 200 T9f6 ~orfa ST e
Ans: 2 &
3. (1. 1. 9313 fRT67 (W IR ST AT AN {FGET 19 WHAFA?



Ans: R,8,v

4. G0 ST (TR O W fF© 0T CFTH & ST IF-59 T T2 W fFwrsfa
CHaPETd PO ?

Ans: Y\Y

5. J(OF (X (RRIIN GIIC F ICeT?
Ans: 31

6. FTBR (IAIG e S

Ans: ¢

7.5X + 5% + 5X + 5x + 5x = PO?

Ans: 5x+1

8. Log2(1/64) g4 NI $\o?

Ans: -6

9. M x2 + 1/x2 = 38 RN, O x— 1/x = ?
Ans: +-6

10. (B AAPHTY AN bo% NS g3 20% AT A1 F9eT) SoF f[ICT ATHFAA Yo%)
SO RTCT *OH FOGH (o] FIA?

Ans: Y0%

11. M CTACHIA (AT FAEE 8 TON FATILLI WS 5:3 T, OF I FEIOIQAN
O FAIE OFAT IO I (ATACR?

Ans: 40%

1295 IS 280 BIFR FOBTEA (A [FN 4 (T, I (57 96 (NSt (@ (rowr=ta
ARSI (AT T S BIFI TN 29) & & FoI6 (A [Fe?

Ans: 3\‘9]%

13. G2 1 ¢ 00 BIFIF 8 IRIT 3K ]S Yoo BIFI ¢ IRLIAF N AHL&A 800 BIFI AR
R F9?

Ans: b%

14, 10 I2 S0% O Rw FA1 24 ) RFTIT 8¢ BIFT (I (e ¢% e 2T )IZM0
U FO?

Ans: 900 GBI



15. G310 IR H/8 DX FIMTT, 0/¢ D* NNT® 2 © TG NN SHNF =g ) IHTasT=of
i Fw?

Ans: 20 f3.

16. ROV PARPIE TR R, 9, &, », 54, ARG A0 4T F9?

Ans: 99

17. RN NP FHON AT & BIF WHF ISV S YIE NS $O?

Ans: 90001

18. S (YT 8% 1AV NP LU TG FO?

Ans: &

19.935(0 4TI SR AT I MY S ¢ (TS FACA 85¢ T ) AN Fw?
Ans: 50

20. JF6 AMTOIFIF I (A ATZT (MG B9, G CFaHe b8 IANNCR = ARANFO?
Ans: to G

21. S FB B JHMG MR JNNI (ST (51T (T, ST W17 T W1 200 e S0 00 (F1T
B 1 Fe/ MRS WG (ATF F© GHLS (GUHIRA?

Ans: \‘9@

22,930 TR fEQUoR TN I ATOIH0F A So (1.1 32 IR TGS
8¢ o (eI fagaod (Fawe o I5f (1A 2

Ans: 25V 2

23.3 cm, 4 cm 433 5 cm I R fONIG (oeT<s ST JF0 (NTF (ofF BT RN
AL Fo?

Ans: 6cm
24 9516 05T FAT AT 4v2 I =0 & 05 CFgHe] o7
Ans: 16 35 I
25. 76 SIRRS (FTT TN 180020 JF6(F WD F (F1Y ICA?
Ans: TP (P19
bICICRRCICE
Y) CTNF R (F A FA?



B: 3fT

2) TG RN T Nfd© P ST 7 2
B: RO PN

) ATTH! TYACTP® (P I FO?

T: 58T

8) I \Y-NI AR (P FHAN PO HCeT?
IR |

¢) S58Y A AIFBIN AFICH (F AT OB NUATIMG WOV O FRONIRIIRIES
B ACL?

C: IRENA TS
W) TS THIIN TR (FIN VAITS FHARNR! HFICo G T2

O: #{YAT

q) SUIF-ICONT ATONG N (FI (ST 1S fHTIR?
ARG

) S 20O AT SCAT T (TRITS ST FACST ATT-

C: b fNfNG (3G v (SE)

5) IIRFN (LORATY YSFTIMATHI AL FO?

8: 5a¢ G

50) LA T AFN  (FIATT FIZS?
[CAVIRIERIR)

99) LT TIFICIR AL W2 FAFOT (-

G: GO (G

32) fB-20 fRYFITH IATHIR GFNTH *SANHIRN?

G oIy

99) TS JILATHT (I I (@S TS (RN TR TS (51072
S: fE=

38) JISATRTHT AT 8 JF N STEE (FG (01 (FIAT WA o?



©: 58N
Y¢) THIHT LGN LTD A DTS WG ST (FI O AYH® ZCAF?
B: B

W) TS NI (NASA) TS (TN AT (SIS ISBIN NoN ATG6 vFg
RPN ?

C: K 4N

Q) JISFTTATH A BT 51 =F-

ARG CER CIT RS

Sb) BIGH ISINTYIY Ie10o IR 2F-

B: 1% g ST [

V) SEFIAI HFBIN P STHEAN T F ST ?
B: oL I

20) AR fTSTT ST FAM6 RE W= fBed?
B: 9956

) IY IR G5 AL WS-

B: PR NATHRG

2R) fOTFT SR (FTH (AT ST FOT?

C: G

29) VLI A0S (YOI 3 (RO TP WY ATO-

©: :900

28) (PP ATSH I ]I F© A2

0: 2008 A

2¢) ¢ OIS AT IRoro (T (MK AL 0TS BT AAR-
8: ST feve=



